

$$g(x, y) = x - y \quad x + y = t \quad x = \frac{t-y}{2} \quad g(t) = \frac{t-y}{2} - y = \frac{t-3y}{2} \quad g(x) = \frac{x-3y}{2}$$

$$f(x) = ax + b \rightarrow f(ax+b) = \frac{t}{x+y} \rightarrow \underbrace{a(ax+b)+b}_{a^2x+ab+b = \frac{t}{x+y}} \quad a^2 = t \quad \left\{ \begin{array}{l} a = -2 \quad f(x) = -2x-3 \\ a = 2 \quad f(x) = 2x+1 \end{array} \right\} \quad f(-1) = -1 \quad \text{✓}$$

$$g(f(x)) = g(f(-1)) = g(-1) = \frac{-1-3}{2} = -2 \quad \text{✓}$$

$$D_{g \circ f} = \{x \in D_f, f(x) \in D_g\}$$

$R(\mathbb{Q})$

$$\sqrt{x+|x|} \neq x+|x| \neq \leftarrow$$

$$-x \neq |x| \quad x \neq 0 \quad \text{✓}$$

$$\sqrt{x+|x|} \neq x+|x| \neq 1 \quad x \neq 1 \quad \text{✓}$$

$$D_{g \circ f} = (1) \cap (2) = (0, +\infty) - \{1\} \quad \text{✓}$$

$$f \circ f + f \circ g$$

$$f \circ f = \sqrt{1+x^2} = \sqrt{x^2} = |x| \quad D = [0, +\infty) \quad \text{✓}$$

$$g \circ f = \sqrt{1-x^2} \rightarrow 1-x^2 \geq 0 \rightarrow x^2 \leq 1 \quad \text{✓}$$

$$D_f = -1 \leq x \leq 1 \quad \cup \quad D_g = x \geq 0 \rightarrow x \leq 1 \quad \text{✓}$$

$$(1) \cap (2) = [-1, 1] \quad \text{✓}$$

$$D_{(f \circ g) \circ f} = [-1, 1] \quad \text{✓}$$

$$f\left(x + \frac{1}{x}\right) = x^2 + \frac{1}{x^2} \quad x + \frac{1}{x} = t$$

$$f\left(x + \frac{1}{x}\right) = \left(x + \frac{1}{x}\right)^2 - \frac{x}{x} = \left(x + \frac{1}{x}\right)^2 - \frac{1}{x} \quad \text{✓}$$

$$f(t) = t^2 - \frac{1}{t} \rightarrow f(x) = x^2 - \frac{1}{x} \quad \text{✓}$$

$$\left(\begin{array}{l} f\left(\frac{x+1}{x-1}\right) = \frac{x^2+1}{x-1} \quad \frac{x+1}{x-1} = t \quad \text{انف} \\ x = \frac{t+1}{t-1} \end{array} \right)$$

$$f(t) = \frac{t^2+1}{t-1} + \omega = \frac{1t^2 + t + \omega t - \omega}{t-1}$$

$$= \frac{1t^2 - 1}{t-1}$$

$$f(x) = \frac{1x^2 - 1}{x-1} \quad \text{✓}$$

$$f(x) = x\sqrt{x} \quad \left\{ \begin{array}{l} x\sqrt{x} = 1 \rightarrow x = 1 \\ x\sqrt{x} = -1 \rightarrow x = -1 \end{array} \right.$$

$$x = 1 \quad \text{✓}$$